
N = 385
385 circles in a square

radius =   0.026652246860
ratio  =  37.520288823814

density  = 0.859168323102
contacts = 1007

 E.SPECHT
22-AUG-2022

N = 386
386 circles in a square

radius =   0.026628573993
ratio  =  37.553644452592

density  = 0.859870395777
contacts = 880

 E.SPECHT
22-AUG-2022

N = 387
387 circles in a square

radius =   0.026622659024
ratio  =  37.561988045166

density  = 0.861715088531
contacts = 1010

 E.SPECHT
22-AUG-2022

N = 388
388 circles in a square

radius =   0.026577069065
ratio  =  37.626421391178

density  = 0.860985362813
contacts = 989

 E.SPECHT
22-AUG-2022

N = 389
389 circles in a square

radius =   0.026547583860
ratio  =  37.668211362435

density  = 0.861290142481
contacts = 962

 E.SPECHT
22-AUG-2022

N = 390
390 circles in a square

radius =   0.026527598557
ratio  =  37.696589755386

density  = 0.862204634985
contacts = 880

 E.SPECHT
22-AUG-2022

N = 391
391 circles in a square

radius =   0.026476212294
ratio  =  37.769753048365

density  = 0.861069764133
contacts = 942

 E.SPECHT
22-AUG-2022

N = 392
392 circles in a square

radius =   0.026429459107
ratio  =  37.836566989685

density  = 0.860225851880
contacts = 1060

 E.SPECHT
22-AUG-2022

N = 393
393 circles in a square

radius =   0.026385580554
ratio  =  37.899488242721

density  = 0.859559078512
contacts = 1020

 E.SPECHT
22-AUG-2022

N = 394
394 circles in a square

radius =   0.026364166235
ratio  =  37.930272137885

density  = 0.860348047094
contacts = 1022

 E.SPECHT
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N = 395
395 circles in a square

radius =   0.026343336909
ratio  =  37.960263100645

density  = 0.861169302912
contacts = 1006

 E.SPECHT
22-AUG-2022

N = 396
396 circles in a square

radius =   0.026332973577
ratio  =  37.975202347704

density  = 0.862670337587
contacts = 1048

 E.SPECHT
20-OCT-2010


